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PROFIT AND LOSS

[n the previous class, you have learnt about cost price, selling price, profit, loss, profit
‘and loss percentage, marked price, discount and discount percentage. We also solved some
real life problems involving these concepts. In this chapter, we shall review and strengthen

hese basic ideas and solve a few tougher problems.

z g
#Jq_st price. The price at which an article is purchased by a dealer is called its cost price

4(CPJ.
Selling price. The price at which an article is sol
Y(SP).
Profit. If the selling price of an article 1

a profit and
| profit = selling price — cost price
ﬂ;jﬁ-oss. If the selling price of an article is less than its cost price, then the deal

d by a dealer is called its selling price

s more than its cost price, then the dealer makes

er suffers a

¢ loss and

| loss = cost price — selling price . 0 V)
. - L
~In solving problems on profit and loss, remember the following : @\D '“*'% b \*”?;L o
\a Profit = S.P. — C.P. lge eV
| AN
'\o Loss = C.P. - S.P. £ AN
,/j/;r//

i.
f
' |o Profit percentage = [ PO o7 100]%

cost price

cost price

a Loss percentage = [ lopss & 100}%

TSR R ——

5 If there is a profit of p%, then
Sp P +profit =C.P. +p% pL C.L.

E
| REP & L of CP = [1 + m) of C.P

St e
| Thus, S.P. = (1 ; m] of C.P.

4 If there is a loss of I %, then
? QP =CP —loss=C.P. -1 %of CP.

l N Y
- CP.- L of CP. = [1 m] of C.P.

=

l
Thus, S.P. = [1 g Tifé) of C.P.

for different number of articles, first find C.P. and S.P. of

2 C.P.: and S.P. are given
lculate profit or loss percentage.

, fqual number of articles and then ca
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2 Overheads
If an article is purchased for some amount and there are some additional expenses on
transportation, labour, commission etc., these are to be included in the cost price. Such
expenses are called overhead expenses or overheads.

For example :

If an article is purchased for ¥570 and ¥ 30 are spent on its transportation, then the
total cost of the article = T570 + T30 = T 600. If the dealer sells it for
2645, then his profit = ¥645 — T600 = T45.

Profit percentage = [% X 100] % = lzé % = T-5%.

Thus, overheads (if any) are always added to the original cost to get the total cost,
and the profit or loss percentage is calculated on the total cost price.

m John bought a watch for ¥540 and sold it for ¥585. Find his profit and
profit percentage.

Solution. C.P of the watch = 540, S.P. of the watch = ¥585
Profit = S.P. - C.P. = T585 — ¥540 = 345

_ [ profit ot JA A,
Profit percentage = [ o Ve 100)% - [540 X 100] %

100 25 X
= —E% = ~3—% - 85 %.
m By selling a bike for ¥ 22464, Ansari incurs a loss of ¥1536. Find his loss
percentage.
Solution. S.P. of the bike = ¥22464, loss = T1536

C.P. of the bike = S.P. + loss = ¥22464 + 1536 = ¥24000
i X 100)%

Ok

1536
240

m Bijoy bought bananas at the rate of 5 for ¥4 and sold them at the rate
of 4 for T5. Calculate

(1) his gain percent.

loss
Loss percentage = [— s 100] P = (24000

0 = E% = 6-4%.
10

(i) the number of bananas he should sell to earn a profit of ¥ 90.
Solution. (i) C.P. of 5 bananas = 34

C.P of' ]l ' Danans = ?% = 30-80

S.P. of 4 bananas =I5

S.P.of 1 banana = % =I1.25

Gain on the sale of one banana
=SP-CP=125-0-80 =045

(
Gain percentage = kpéugt X 100] %
(0-45 45
- (058 100]% . (% X 100]%

% % = 56-25%.
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D eroEIT AND LOSS 17 @
(i) Number of bananas to be sold = fotal profif
profit on one banana
£ = =200
2045 0-45
Example 4. _ A fruit-vendor buys certain number of oranges. If the selling price of
6 oranges is equal to the cost price of 5 oranges, find his profit or loss
percentage.
Solution. Let the cost price of one orange be ¥x, then

C.P. of 5 oranges = I 5x

It is given that S.P. of 6 oranges = C.P. of 5 oranges

S.P. of 6 oranges = I5x

S.P. of one orange =X 5—;

As the cost price of one orange is Tx and the selling price of one orange

18 = e the fruit-vendor suffers a loss.

6 )
: g S5x 6x — 5x x*
His loss on selling one orange = Ix — X i 3 & = =
f x A\
Loss percentage = ((1;—5; X 100) % = % x 100 | %

\ J

_ g g _162q
6 3 3

SET NP A cloth merchant on selling 33 metres of cloth obtains a profit equal to
the selling price of 11 metres of the same cloth. Find his profit
percentage.

Solution. Let the S.P. of 1 metre cloth be Tx, then
' S.P. of 33 m cloth = ¥33x
It is given that profit on selling 33 m cloth = S.P. of 11 m glothi= T 11x
C.P. of 33 m cloth = S.P. of 33 m cloth — profit on selling 33 m cloth
= ¥33x — T1lx = T 22x

_ ( profit _ (L= :
Profit percentage = ( it 100]% = (zzx X 100) % = 50%.
Example 6. _ Harpal bought a camera for ¥ 1280. Find its selling price if it is sold at
(i) 15% profit (it) 10% loss.
Solution. C.P. of the camera = ¥1280
(i) If the camera is sold at 15% profit, then
G 15 & 2
8P - [1+ 100} of 71280 ‘S.P. = (1+ 2] of C.P.
115
=3 [ﬁ J 1280) = 21472.
(ii) If the camera is sold at 10% loss, then
10 [
gk [1-m) of 71280 \S.P. i (1-m] of C.P

e 12801 - 71152.
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' 118 MASTERING MATHEMATICS - VIII ‘

Kirpal bought a certain number of apples at ¥ 75 per score and sold them
at a profit of 40%. Find the selling price per apple.

Example 7. -:\

Solution. C.P. of one score i.e. 20 apples = X795, profit = 40%
S.P. of 20 apples = (1 + %}ﬁ] of 75 1S.P. E (1 + -ig—o) of C.P.
= 2( 155 x75] - 2105
S.P. of one apple =X % = 2?1 = ¥ 5:25.

Example 8. :,\ By selling a fan for 3649, Anil earns a profit of 18%. Find its cost price.

Solution. S P. of the fan = ¥ 649, profit = 18%, C.P. = ?
4 18 B 40
7649 = [1 + 100] oD .S.P, ] [1 ; m] of C.P.
= 649 = 118 ot B
100
100
o CP =% [649 % Il_s) — 2550

Hence, the cost price of the fan = ¥ 550.

Example 9. ;\ By selling a chair for ¥391, Ali suffers a loss of 15%. Find its cost

price.
Solution. S P. of the chair = ¥391, loss = 15%
15 !
7391 = (1 2 Eﬁ] of C.P. } SP = [1 ¥ Eﬁ) of C.P.
= T391 = 85 ol (A
100

100

3 Gp o= [391 Y _8?] — 7(23 x 20) = T460

Hence, the cost price of the chair = 3460.

Example 10; David sells two calculators for ¥ 1500 each. He earns a profit of 25% on

one and suffers a loss of 25% on the other. Find his total profit or loss on
the whole deal. Also calculate it as a percentage.

Solution. For the first calculator
S.P. = 21500, profit = 25%, C.P. = ?
2 25 | g% <0

21500 = (1 ’ m] of C.P. . 5.0 [1 4 mﬂ] of C.P.

S R0 = i iR
100
100
L L eip [1500 ! Iz—5] _ 71200.
For the second calculator :
S.P. = 21500, loss = 25%, C.P. = ?
25 l
1500 = [1 2 ITU] of C.P. | apie (1 L ﬁ] of C.P.

— #1500t =0 pom
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' PROFIT AND LOSS 119 ‘

4 CP =72 (1500 ¥ %) _ 2000

Thus, total cost price = ¥1200 + 32000 = ¥3200
Total selling price = 1500 + 1500 = 33000

Loss = C.P. — S.P. = ¥3200 — 33000 = ¥200
Hence, David suffers a loss of 3200 on the whole deal.

_ [ loss _ (200 e 250 L@
Loss percentage = (C.P. X 100)% - [——3200 X 100]% = % = 6-25%.

Example 11 On selling a bag for 704, a shopkeeper suffers a loss of 12%. At what

price should he sell it to gain 7-5%?

Solution. S.P. = 2704, loss = 12%, C.P. =?
12 | | & Leitind o
— R0l HECP
100
S CPE = [704 ; 18%”] _ 2800
Now C.P. = 2800, gain = 7-5%, New S.P. = ?
/ 75 l 1 % p .. R A T |
New SP = (1+1%] of 7800 8P = (1+355) of P
§ 15 215

\

Example PR By selling a table for X 517-50, a shopkeeper gains 12:5%. For how much
>  should he sell it to gain 30%?

Solution. S P = 2517-50, gain 12-5%, C.P. = ?
3¥517-50 = 11 E }]3—'3) of CP. !‘ SR = [.1 - _—lf;{—' ] piee. .
— ¥517-50 = 11 + %) of C.P. = _3%2- of C.P.
~  CP=7(51750 ) = (51750 » 3 = =460
Now C.P. = T460, gain = 30%, SP =?
SR = [1 + 1—3;}%] of T460 “ D= {1 4 l—::“] i C.P.

2 [460 3 %?,%] _ 7598.

L CRED) A shopkeeper purchased 60 articles at 7150 each. He sold one-third of
e them at a loss of 6%. At what price each must he sell the remaining
articles so as to gain 10% on the whole deal?

Solution. C.P. of each article is ¥150
C.P. of all i.e. 60 articles = 7 (150 x 60) = T9000

Desired gain on the whole deal = 10%

S.P. of all articles = (1 + 11—{;}0*] of 9000 =X (%% X 9000] = 9900
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One-third of all articles = % x 60 = 20

C.P. of 20 articles = T(150 x 20) = ¥3000
As these articles are sold at a loss of 6%,

S.P. of these articles = (1 - 10| of 33000 = 7 (3000 = 22820
S.P. of the remaining i.e. 40 articles = T9900 — ¥ 2820 = ¥ 7080
S.P. of each of the remaining articles = % %}1 =R 177.

Anu sold a saree to Manu at a gain of 15%. Manu sold it to Banu at a
loss of 5%. If Banu paid ¥ 1311, how much did Anu pay for it?

Let the amount paid for the saree by Anu be ¥x.
Since Anu sold the saree to Manu at a gain of 15%,

: s 15 =i
thib smount paid by B (1 ; m] of T2 |S.P‘ = (1+ 2] of CP
=3 E — §x
100 20
Since Manu sold the saree to Banu at a loss of 5%,
: 51 23 : [
the amount paid by Banu = (1 100] of X P S.P = [1 - ﬁ} ot U
¥ ,{(95 .28 ] “ ?(19 23x]
100 20 20 20
According to the given condition, % X %x = 1813
19 x 23

Hence, the amount paid by Anu for the saree = ¥ 1200.

@ At each stage, the selling price of one becomes the cost (buying) price for the other.

Example 15:

Solution.

Manish sold a bicycle at a profit of 10%. Had it been sold for ¥ 75 more,
the profit would have been 16%. Find the cost price of the blcycle
Let the cost price of the bicycle be ¥ x. Profit = 10%

10
S.P.=(1+m] of Tx ‘S.P.=[1+ﬂ] of C.P.
si188 L g 1B
~ 100 of 3 = 3"wx

To obtain 16% profit,
gy 116 )
S.P._(1+100) of 2x = 18 of 25 = 7 2y

According to given information, —zix = %x + 75
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i F -

Bx- x=1T5 (Multiply both sides by 50)

= B58x - 56x = 76 x 50
= 3x =756 x50 = x=25x50=7%1250
Hence, the cost price of the bicycle = ¥1250.

Arbindo sold his watch at 10% loss. If he had sold it for ¥54 more, he
would have made 8% profit. Find the selling price of the watch.

Let the selling price of the watch be ¥x. Loss = 10%

[
-'! !x = (1 F o IU-'_O_] Of CnP. \ S.P. = 1 i ﬁ] Of C.P.
= Ix = 20 of CP = 2 of C.P.
100 10
=5 CP =% %x

To make 8% profit,
8P = (1+i] of CP = 18 of?l—qx=?(l-0—8xgx) =?§-x

According to given information, —g-x =x + 54

= gx-x=54

= 6x - 5x = 270 = x=270 (Multiply both sides by 5)
Hence, the selling price of the watch = ¥270.

E ::, d ?mpﬂ‘ bicycle on transportation.
e bicyc at f1350 per piece. Find his
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9. A vendor buys bananas at 3 for a rupee and sells at 4 for a rupee. Find his profit or loss
percentage.

10. A shopkeeper buys a certain number of pens. If the selling price of 5 pens is equal to the cost price
of 7 pens, find his profit or loss percentage.

11. Find the selling price, when :
(i) cost price = ¥ 2360, profit = 8% (ii) cost price = ¥ 380, loss = 7-5%

(iii) cost price = I 1440, profit = 16 %— % (iv) cost price = 3360, loss = 8 % %.

12. A dealer bought a number of eggs at ¥ 18 a dozen and sold them at 50% profit. Find the selling price
per egg.

13. Mr. Ghosh purchased wrist watches worth ¥ 60000. He sold one-third of them at a profit of 30%,
one-third at a profit of 20% and the remaining at a loss of 5%. Calculate his overall profit or loss
percentage.

14. Kaliya purchased a cow for ¥ 6000 and a buffalo for ¥ 12000. He sold the buffalo at a profit of 15%
and the cow at a loss of 10%. Calculate his overall profit or loss percentage.

15. Salman bought 40 chairs at ¥ 175 each. He sold one-fourth of them at a loss of 8%. At what price
each must he sell the remaining chairs so as to gain 10% on the whole deal?

16. The manufacturing price of a T. V. set is Z12000. The company sold it to a dealer at 20% profit and
the dealer sold it to a customer at 12-5% profit. Find the price the customer has to pay.

17. Find the cost price, when :
(i) selling price = ¥450, loss = 10% (ii) selling price = ¥ 690, profit = 15%
(iii) selling price = 444, loss = 7-5%  (iv) selling price = ¥6077-50, profit = 6 % %.
18. Amiya sold two transistors at ¥ 600 each. He made a profit of 50% on one and suffered a loss of 50%

on the other. Find his total profit or loss on the whole deal. Also calculate it as a percentage.

19. By selling an almirah for ¥ 3920, a shopkeeper would gain 12%. If it is sold for ¥ 4375, find his gain
or loss percentage.

0. When an article is sold for Z 30, the profit is 20%. Find the profit percent if the selling price is
lowered to X 28.

21. By selling a bicycle at ¥ 1334, a shopkeeper would suffer a loss of 8%. At how much amount should
he sell it to make a profit of 12% %?

22. By selling a tie for ¥ 252, a shopkeeper gains 5%. At what price should he sell the tie to gain 35%?
23. By selling 8 bananas for ¥ 12, a fruit-seller gains 25%. How many bananas did he buy for I 127

24. A shopkeeper buys some toffees at the rate of 11 for X 10 and also same number of toffees of another

brand at the rate of 9 for Z 10. If he sells the whole lot at the rate of one rupee per toffee, find his gain
or loss on the whole transaction.

[Hint. Let the number of toffees bought of each kind be x. Then,

C.P. of 1st kind of toffees =X % ;

C.P. of 2nd kind of toffees =< % .

S.P. of whole lot = T (1 x 2x) = 2x.]
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okeeper sells a sweater at a loss of 5%. If he had sold it for 260 more, he would have made

L of 3% Calculate the purchase price of the sweater.

ersells a bag at 12% profit. If he had sold it for Z 39 more, he would have made 18%
Mtﬁécbstpnce of the bag for the shopkeeper.

Janki solc her leather purse at 8% loss. If she had sold it for X 150 more, she would have made 12%
t _-_"'.'*fl"'i-nd.ﬂle selling price of the purse.

Sometimes in order to dispose off old (or damaged) goods or to increase the sales or to
attract customers to buy their products, shopkeeper offer goods at reduced prices. You
must have seen banners like “Special offer, Huge sale, Discount upto 50%. Rush to avail
of lifetime opportunity”.

Discount means reduction in prices.

Marked price. The price printed on an article or written on a slip attached to it is called
its marked price (abbreviated M.P.).

The marked price of an article 1s also called its listed (catalogued or advertised) price.

Discount. The amount deducted from the marked price of an article is called discount
(or trade discount).

Usually discount is given as a percentage on the marked price. Thus, by a discount of
12.5%, we mean that the price of the article is to be reduced by 12-5% of the marked
price.

Selling price. The price of an article after deducting discount from the marked price 1s

called selling price or net price. It is the price of the article paid by a customer.
Thus,

selling price = marked price — discount

solving problems on discount, remember the following :

o Discount is always given on the marked price.
a Selling price = marked price — discount
5 Discount = marked price — selling price

2 di I
o Discount percentage = [ e 100) %o
marked price

a If the discount is d%, then
9P = M.P - discount = M.P. - d% of M.P.

d d
- MP. - -& of M.P. = (1 ’ ﬁ] of M.P. WJQ“
. Thus, S.P. = [1 = ?(:-'5] of M.P. QLQJM

@@cesm. Suppose a discount of 15% is given on the marked price of an
j article and further a discount of 5% is given on the reduced price, then we say that

two successive discounts are given.

8
If two successive discounts are d,% and d,%, then L W
N/
SP =(1- ﬂMW -2 ) of M.P .
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A dinner set is marked at ¥2600. The shopkeeper offers 10% discount on
~ it. Find the discount and the net price the customer pays.

Solution. Marked price = ¥2600, discount = 10%

Amount of discount = 10% of 2600 = X [ﬁ X 2600] = 3260

Net sale price = M.P. — discount = ¥2600 — ¥260 = T 2340
Hence, the customer pays T 2340.

Example 2. /‘\ A chair is marked at ¥480 and is sold for ¥440. Find the discount
percentage given.

Solution. M.P. of the chair = 480, S.P. of the chair = ¥440
Discount = M.P. — S.P. = T480 — ¥440 = T 40

: discount 40
Discount percentage = ( e 100) T — [E X 100) %
25 1
— e — e ? ]
== S =it e

Example 3. ; A dealer is selling an article at a discount of 10% which is marked at
X600, and still he makes 25% profit. Find :

(i) the selling price (i) the cost price
Solution. (z) M.P. = 600, discount = 10%, S.P. = ?
= ol 4 g A0 dgion
iz [1 m] of 7600 IS.P. - [1 me] of M.P
= z(wo 600] = T540
Hence, the selling price = ¥ 540.
(z2) S.P. = 3540, profit = 25%, C.P.?
= 25 > P
2540 = (1+ m] of C.P. ) SP = (14 m) of C.P

BRI T )
100

100
125

Hence, the cost price = ¥432.

S e et [540 ) % (108 & ) iEHA00

Example 4. } A shopkeeper purchased a sewing machine for ¥1200. He sells it at a
discount of 10% and still makes a profit of 8%. Find :

-

(i) the selling price (i) the marked price.
Solution. (1) C.P. = %1200, profit = 8%, S.P. = ?
8
S.P = (1 + ﬁ] of 1200 ‘ S.P. = (1 ﬁ) of C.P.
108
=7 [100 1200] - 71296
Hence, the selling price of the machine = ¥ 1296.
(zi) S.P. = ¥1296, discount = 10%, M.P. = ?
10 d
21296 = [1‘E6J of M.P. \S.P. = (1-1%]) of MP
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90 9
— %1296 = - of M.P. = i+ of M.P
e MP. = 2 (1296 # %“] _ 7(144 x 10) = T 1440

Hence, the marked price of the machine = ¥ 1440.

m A dealer buys a bicycle for ¥ 1250 and marks it at 40% above its cost price.
If he allows 8% discount, find :

(1) the marked price  (iz) selling price (i) his profit percentage.
Solution. (@) C.P. = ¥T1250
Since the dealer marks the bicycle at 40% above the cost price,

NI R 102 0E CP = 21250 + ¢ (1%% G 1250]

= 1250 + ¥500 = ¥1750
Hence, the marked price of the bicycle = ¥ 1750.
(ii) M.P. = 21750, discount = 8%, S.P. = ?

8 DS
ap e [1—m) of 21750 15.9 . [1 “Iﬁﬁ] of M.P.

- 2[5 1750 = 2(23 x 70) = 71610,
(iii) Profit = S.P — C.P. = 31610 — 31250 = 3360
Profit percentage = (péost X 100) Y0 = [iﬁ-a— X 100]%

1250

.. %4.% = 28.8%.

Example 6. The cost price of an article is ¥ 600, which is 25% below the marked price.
If the article is sold at a discount of 15%, find :

(1) the marked price  (ii) the selling price (ziz) the profit percentage.
Solution. (1) G.B. = X600

Since the cost price is 25% below the marked price,
C.P. = M.P. — 25% of M.P.

2600 = M.P. — 25 of M.P. = (1 i E] of M.P.
100 100
) 2600 = > of MP. = 3 of M.P.
100 4
& MP. = 3 (600 y %) — 2800.

Hence, the marked price of the article = ¥800
(ii) M.P. = 800, discount = 15%, S.P. = ?

15 d
S.P. = (1‘1_66] of 2800 (s.p.: (145@] of M.P.
85
o [m % 800) = 7680
Hence, the selling price of the article = ¥680.
(iii) Profit = S.P. - C.P. = 3680 — ¥600 = 380
Profit percentage = "[pmﬁt X IOOJ % = (_ﬁ_ﬂ_ X 100)% S 13—;}- %.
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A dealer purchased an article at 20% discount on the marked price but
sold it at the marked price. Find his profit percentage.

Solution. Let the marked price of the article be Ix.
Since the dealer purchased the article at 20% discount,

CP = M.P. - 20% Of MP

20 % g Al L e 4
=?x—ﬁﬁof?x_?x—?5x-?[x 5x]_?5

As the article is sold at the marked price, S.P. = Xx
4x 4x )
Profit = S.P. - C.P. = Tz - T2 = ¢ (x-2] = 22

Profit
G

Profit percentage = ( xlOO]% = | 2 x100|%

% (EXE—XIOOJ% — 25%.

4x

A dealer marks his goods 40% above the cost price and allows a discount
of 15%. Find his profit percentage.

Solution. Let the cost price of an article be x.

Since the dealer marks his goods 40% above the cost price,
M.P. = C.P. + 40% of C.P.

=?x+—ﬂf?x=?x+?ﬂx= [x+—x]=?zx
00 5’
15 7 d
S.P.z[l-m] of ¥ Lx SP=(1-TU—O-] of M.P
85 7§ 119
119 119 19
ot =S.P.—C.P.=?m—0x-?x=?(ﬁx x) e
r’-‘l_g—x A
Profit percentage = [pcmst X 100)% = lﬂf— x 100 1% = 19%.

\ /

Example 9. f The marked price of a washing machine is ¥24800. A shopkeeper allows

two successive discounts of 15% and 5%. Find the price which a customer
has to pay for the washing machine.

Solution. The selling price of the washing machine
_ [ 2 e = _El_][_dz)
5 [1 100][1 1 Uﬂ) of M.P. ‘ SP. = (1-.)(1-% ] of M.P.
86 95 15 18
= (IUOXIDO) of 24800 = % [Exﬁax24800}

= Z(17 x 19 x 62) = T 20026.

Example 10./} Find a single discount equivalent to two successive discounts of 25% and
8%.

Solution. Let the marked price of an article be ¥x and a single discount of d% be
equivalent to two given successive discounts of 25% and 8%, then
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d 5] 8
| i R i) B Both S.P. must be equal
[ 100) of 22 (1 m] [1 100] of 22
. dl [ {II-J
\S.P. = tl——-]kl—— = \ of M.P.
100 100 )
:}1..&:&)(?3 :}1_.._ii_=_8_)(_92_—_-_@_
100 100 100 100 4 100 100

— 100 — d= 69 = d = 100 — 69 = 31.
Hence, a single discount of 31% 1s equivalent to two given successive discounts.

1. Find the discount and the selling price, when :

(i) the marked price = 3575, discount = 12%

(if) the printed price = ¥ 12750, discount = 8 %.

e B o s .m F i
— el il it i il i s
o LA T
S
IS
M
)

2. Find the discount and the discount percentage, when :
(/) marked price = X780, selling price = ¥721.50
(i) advertised price = Z 28500, selling price = ¥24510.
3. A notebook is marked at Z30. Find the price a student pays for a dozen notebooks if he gets 15%
discount.

4. A dealer gave 9%
price of the fan.

5. The list price of an article is T 800 and a dealer is selling it at a discount of 20%. Find :

(i) the selling price of the article.

(ii) the cost price of the article if he makes 25% profit on selling 1t.
would give him a profit of 10% after allowing a

discount on an electric fan and charges 37238 from the customer. Find the marked

6. A shopkeeper marks his goods at such a price that
discount of 12%. If an article is marked at 22250, find 1ts :
(i) selling price (if) cost price.
7. A shopkeeper purchased a calculator for 2 650. He sells it at a discount of 20% and still makes a
profit of 20%. Find :
(i) the selling price (ii) marked price.
8. A shopkeeper buys a dinner set for Z 1200 and marks it 80% above the cost price. If he gives 15%
discount on it, find :
(i) the marked price (ii) the selling price (iii) his profit percentage.

9. The cost price of an article is X 1600, which is 20% below the marked price. If the article is sold at

a discount of 16%, find :
(i) the marked price (ii) the selling price (iii) profit percentage.
10. A shopkeeper allows 20% discount on his goods and still earns a profit of 20%. If an article is sold
for 360, find:
FoNrE e marked price (ii) the cost price.
nhnpke er marks his goods at 20% above the cost price and then gives 10% discount, find his

marks his goods at 20% above the cost price and then gives 20% discount, find his
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13. The printed price of a refrigerator is ¥ 28600. A dealer allows two successive disbbuﬁts?bf lﬁ%and
5%. Find the price which a customer has to pay for the refrigerator.

14. Two dealers have marked an article at the same price. The first dealer allows two successive discounts
| of 15% and 5%. The other allows a discount of 20%. Which is the better offer?

15. Find a single discount equivalent to two successive discounts of 30% and 10%.

? = The price at which an article is purchased by a dealer is called its cost price
' (@ Py

. = The price at which an article is sold by a dealer is called its selling price (S.P.).

= If the selling price is more than the cost price, then the dealer makes a profit and
profit = selling price — cost price

w If the selling price is less than the cost price, then the dealer suffers a loss and

N PR S NI S SR L - o

loss = cost price — selling price
= Profit or loss percentage is always calculated on the cost price.

E ,

i fit

3 Profit percentage = P 100) %

| : . cost price

3 (i

? Loss percentage = — 100}%

i \ cost price

; w If there is a profit of p %, then S.P. = [1 1—00-) ook
:

: . l

| = If there is loss of [ %, then S.P. = (1 - ﬁ) afi G

s “? S A

= The price printed on an article or written on a slip attached to it is called its marked
price (M.P.). It is also called listed (printed, catalogued or advertised) price.

= The amount deducted from the marked price of an article is called discount. Discount
1S always given on the marked price.

= The price of an article after deducting discount from the marked price is called
selling (or net) price. It is the price of the article paid by a customer.

Selling price = marked price — discount
= Discount is always calculated on the marked price.

j:'
3

Discount percentage = [ dismunt_ X 100)%
marked price
w If there is discount of d%, then S.P. = [1 - fgﬁ) of M.P. 2

w [f there are two successive discounts of d,% and d,%, then

S (1_3.][1_&‘1] of M.P.
100 100

Check Your Progress

1 Ramu purchased 20 parrots at ? 30 each. Two parrots flew away and Ramu sold the rest of the |
parrots at ¥ 40 per parrot. Calculate the proﬁt or loss percentage of Ramu.

2. A fruit-vendor purchased a certain number of oranges at 20 for ¥ 15 and sold them at 25 for ?20
Find his profit or loss percentage. -
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ﬂ ﬁggetaﬂe seller on selling 20 kg potatoes earns a profit equal to the cost price of 5 kg potatoes.

Find his profit percentage.

A vegetable seller on selling 20 kg potatoes earns a profit equal to the selling price of 5 kg potatoes.
Find his profit percentage. :

Tanya bought three pigs for ¥ 250 each. She sold one at a loss of 10%. At what percent profit should
she sell the remaining two pigs so as to gain 10% in the entire deal?

Find the selling price, when :

(i) cost price = ¥ 980, profit = 15% (if) cost price = X 1530, loss = 6% %.

. Ajit bought an old car for ¥ 78000. He spent ¥ 2000 on repairs and repainting the car. He sold the

car to Anuj at a gain of 15%. Anuj sold it to Anthony at a loss of 5%. What did the car cost to
Anthony?

. The manufacturing price of a T.V. set was ¥ 5000. The company sold it to a distributor at 16% profit.

The distributor sold it to a dealer at 10% profit. The dealer sold it to a customer at 20% profit. Find
the price the customer paid.

. Find the cost price, when :

(i) selling price = T 6372, profit = 18% (i) selling price = % 1296, loss = 4%.

Mahanta sold two cows at T 12000 each. He made a profit of 20% on one cow and suffered a loss
of 20% on the other. Find his total profit or loss on the whole deal. Also calculate it as a percent-
age.

A sells an article to B at a profit of 20% and B sells it to C at a loss of 6%. If C pays T 846, find
how much did A pay for it.

Gaurav sold an article at a profit of 12%. Had it been sold for ¥ 16 more, the profit would have been
20%. Find the cost price of the article.

Gaurav sold an article at a profit of 12%. Had it been sold for ¥ 16 more, the profit would have been
20%. Find the selling price of the article.

A shopkeeper allows 8% discount on his goods and still earns a profit of 15%. If an article is sold
for T 460, find :

(i) the marked price (ii) the cost price.
If C.P. is 200, discount is 10% and profit is 17%, find
(i) S.P. (ii) M.P.

A éhn'pkeeper allows 10% discount to his customers and still gains 8%. Find the cost price of an
article which is marked at < 6000.

Find a single discount which is equivalent to two successive discounts of 10% and 5%.

A merchant imports an article at a cost of T 150. Import duty and other taxes amount to 20% of
the cost price. What is the final cost price of the article?

He marks the article for sale 25% above this cost price, but accepts a 4% reduction of the marked
price if a customer pays cash. What price such a customer pay for the article? Find also the percent-
age profit made by the merchant in that case.
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